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FOREWORD

This report on the performance of the students in Arabic Language subject in the
Form Two National Assessment (FTNA) for 2020 has been prepared in order to
provide feedback to educational administrators, school managers, teachers and
other stakeholders about students’ abilities in the Arabic Language subject.

The Form Two National Assessment (FTNA) is a formative evaluation which,
among other things, shows the effectiveness of the educational system in general
and the educational delivery system in particular. Essentially, the students’
responses to the assessment questions is a strong indicator of what the educational
system was able or unable to offer to students in their two years in Ordinary Level
Secondary Education in the subject.

The analysis presented in this report is intended to enhance understanding of the
students’ responses in Arabic Language subject. The report highlights the factors
that made the students to score high marks in the National Assessment. These
factors include; the ability to interpret the requirements of the questions, the ability
to follow instructions as well as their adequate knowledge on the concepts related
to Arabic Language. The report also highlights the factors that made some of the
students fail to score high marks such as; failure to identify the demand of the
questions, inability to express themselves in Arabic language and inadequate
knowledge on the concepts, principles and rules related to the Arabic language
subject.

The feedback provided in this report will enable education administrators, school
managers, teachers, students and other education stakeholders to identify proper
measures to be taken in order to improve teaching and learning in secondary
schools. This will improve students’ performance in future National Assessments
administered by the Council.

Finally, the council would like to thank the Examination Officers, Examiners and
all those who participated in the preparation and analysis of the data used in this

report.
A

Dr. Charles E. Msonde

EXECUTIVE SECRETARY
iv



1.0

INTRODUCTION.

This report is on the analysis of performance of students who sat for the Form
Two National Assessment (FTNA) in the Arabic Language subject in November
2020. The Arabic Language Assessment was set in accordance with the Form
One and Two Arabic Language syllabus of 1995.

The Arabic Language paper consisted of eleven (11) questions and students
were supposed to answer 10 questions. This paper was divided into four
sections, namely section A- Comprehension, Section B-Language Use, Section
C - Grammar and Section D - Composition. The questions in sections A, B and
C were compulsory. The students were required to choose one of the two
questions in section D. Section A had one question which carried 20 marks.
Section B, had four questions, whereby question 2, 3 and 4 carried 5 marks
each. Question 5 carried 10 marks making a total of 25 marks. Section C, had
four questions; question 6 carried 10 marks, question 7 carried 5 marks and both
questions 8 and 9 carried 10 marks, making a total of 35 marks. Section D had
two optional questions, each one carried 20 marks.

This analysis of the FTNA in Arabic Language presents the requirements of
each question and shows the expected responses for each of the questions and
how the students answered the questions. Samples obtained from students’
responses are presented in order to provide a general overview of how the
students responded to the questions.

The rating of candidates’ performance has been grouped into 'good', 'average' or
‘poor' and is represented in different colours. In this analysis, when the
performance ranges from, 65 to 100 which is good and it is coloured green, 30
to 64 percent, is average and it is coloured yellow and 0 to 29 percent, is poor
and it is coloured red. This analysis is based on the average percentage of the
students who scored 30 percent or above of the total marks allocated to each
question. The overall students’ performance is summarised in the Appendices.

The total number of the students sat for the Form Two National Assessment in
November 2020 in Arabic Language were 3,086, of which, (51.53%) of the
students passed and (48.47%) of the students failed. In 2019, students who sat
for the Form Two National Assessment were 2,995; of these, (39.33%) of the
students passed and (60.67%) of the students failed. This implies that the



performance of the students in the year 2020 has increased by 12.20 percent
compared to the year 20109.

2.0 ANALYSIS OF STUDENTS’ PERFORMANCE IN EACH QUESTION
2.1 SECTION A: Comprehension and Summary

This section consisted of question 1 which was compulsory. Students were
required to attempt all parts of the question. The question tested students’
ability to read and comprehend the information given in the passage. The
question carried twenty (20) marks.

2.1.1 Question 1: Comprehension with Short Answers and Filling in
the Blank Spaces.
The students were required to read the passage and provide answers
from the given passage. The passage was about (e a7 Eii
(The merciful girl) (Al-Afaafu) or iz juiad (The little bird).

Students were also required to summarise the given passage in not
more than five lines.

This question had three parts; (a), (b) and (c). In part (a), the
students were required to provide short answers to the five items
given. The following is the passage which was given for this
question.
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In part (b) the students were instructed to fill in the blank spaces
with appropriate missing word from the passage. The items in this
part were:-
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In part (c), the students were asked to summarise the given passage
by using only five lines. The item was:-

W
The question was attempted by 3,086 students (100%). 135 students
(4.4%) scored from 13 to 19.5 marks, which is good
performance;1,578 students (51.1%) scored from 6 to 12.5 marks
which is average performance and 1,373 students (44.5%) scored
from 0 to 5.5 marks, which is weak performance, among them 63
students (2.0%) scored O mark. The statistics show that the
performance in this question was average, since 1,713 students
(55.5%) scored from 6 to 19 marks. The overall students’
performance in the question is summarised in Figure 1.

4.4%

Scores
m0.0-55

6.0-12.5

51.1% m13.0-19.0

Figure 1: Students’ Performance in Question 1.



The students who performed well in this question were able to
provide adequate responses to the five items given in part (a) by
providing short answers from the given passage as follow: In
responding to the item (1) fLiall G ditde s < & A ¢ Where did
Afaf go out of the house?) . They wrote: (Lisl dus J ditde s ja (
Afaf went out to the garden of the house ). Moreover, in responding
to the item (2) fuu¥ A5 iRl e Cilde Edald Jita (What did the
Afaf see on the trees and on the ground?). They wrote: <iléé Ciiald
o Jﬁ-u i3l 5 3 K a5 55a0N ) Jiket & a3 ) Bt e
y‘vY/ (he Wltnessed the birds fall to the ground and then fly to the
tree chirping hard and their eyes were looking at the ground.

Furthermore, responding to the item (3) 3 (G5 jidtiath cuits fiLal
S8 A JEE @iz 5 (why were the birds chirping so hard, their
eyes looking at the ground?), these students explalned that wils
yUUdﬂl LAJ.MUG ey l(.r')’uaJY/UJ/JE.n.r lg_u.cj d.tuud)ﬁ J.IﬁL‘AfJ/
gu-'ﬁ-’/g-f‘ 44 (The birds were chirping so hard and their eyes were
looking at the ground because they were afraid of their little one
who was unable to fly). Responding to the item (4) _idlatlf < €5 Ciss
el lgaiica o Cilde (How did the birds thank Afaaf from her good
deed”) they wrote: aﬂ 445450 oﬁu-f/ i o Cilic J-'-"M'-f/ <sd

ALE ) il jpiiadl Gip 4 lf-ﬂﬂJJ e uf; (The birds
thanked Afaaf for her good deed by fluttering their wings over
Afaaf's head while making happy noises for the return of the small
bird in its nest).Responding to the item (5) 4&hil ods J/a S/
(Write the tittle of this passage), they wrote that 34 4ekilf ods /3
daia 3 &L (The merciful girl) (Al-Afaafu).

They were also able to fill in the correct missing words for the five
items given in part (b) using appropriate information from the
passage. The students realised that the first space was supposed to
be filled in with the word ek (her ladder), the second space W|th
the word 4&€ (jts nest), the third space with the word (i [ 3diad
(a small bird), the fourth space with the word ¢4 (was going) and
the last space with the word daia &4l (The merciful girl).

Furthermore, these students were able to summarise the given
passage in not more than five lines in part (c), although some of
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them in this category failed to do so in this part. One of the students
Who performed WeII for example summarised as:-

Mﬂ-@g-b G4 cﬁﬂbm-” s ub—ué-f/u-fc w-ﬂ YD-M' UJ‘*“’
MM/JMIJ ik & 2t “Js.uﬂlf.ua.l/ Liailfy Ll lide & jasf
"MHIM/JMMJJLAJ:J..:LAU/J}} 4de ) dilas

(“One day Afaf went out to the garden of the house to relieve herself

from the trouble of studying, in the garden he witnessed a small bird

that could not fly, and there were birds that were crying out for fear

of the little one.
Afaf decided to bring the ladder and propped it up against the tree,

and then she took the little bird slowly and put it in its nest. Then the

birds chirped with joy at the return of the little bird to its nest”)

This indicates that the students understood the demand of the
question and had enough skills of reading for comprehension.
Extract 1.1 shows a sample of a good response.
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Extract 1.1 is a sample of a good response to question 1.

The extract shows a sample of a response from one of the students
who provided correct short responses and filled in the blank spaces
with the correct information and finally summarized the given
passage as required. Although in his or her summary there are some
minor mistakes.

Further analysis of the students’ performance shows that, 1,578
students (51.1%) had average performance. This performance
suggests that these students had partial comprehension skills, which
hindered them from identifying all correct answers in the passage.
Some of the students for example, provided answers with
grammatical errors. Also they did not have enough knowledge of
summarizing the passage given.

Furthermore, some of the students performed poorly in this
question. Those who scored from 1 to 5.5 marks could not fully
10



understand the passage; hence they mixed correct with incorrect
answers in their responses. Additionally, some of them did not
understand the demand of the question in some parts while others
had insufficient skills to summarize the passage given. Moreover,
the students who scored 0 mark in this question did not understand
what was written in the passage while others did not recognize the
demand of the question due to poor mastery of the Arabic language
and inadequate reading comprehension skills.

Consequently, they provided incorrect responses to all parts of this
question. In part (A) one of the students for example, responded as
follows: In item (1) fLidall Ges Cilde s i Gf ) (Where did Afaf go
out of the house?), the student wrote; 4wl £Lé lgudi 6 i
(to relieve herself from the trouble of studying), instead of s s
Jidadl ddius ) Zitde (Afaf went out to the garden of the house). In
item (2), f ¥ Ao 5 5ol e Citde Gaali lia (What did Afaf see
on the trees and on the ground’)) one of the students responded that
s ) ) SEE 15 5 5 (K 5 5N ) Sik3 & (then fly to
the tree chirping hard and their eyes were looking at the ground)
Instead of QJJJM/Q-”%# 8 ) gt et Cilde 3L
¥ ) B g 5 5idu (1545 (he witnessed the birds fall to the
ground and then fly to the tree chirping hard and their eyes were
looking at the ground. In item (3) L35 sy 3 55 jdlicat coitS fitat
-‘jubjsffu-?ﬁ (why were the birds chirping so hard, their eyes
looking at the ground?), the student wrote that "AJS-ZJ/MJE L
(then flys to the tree) instead of Sk L4348 5 5 6Ly A 05 § jdlaat)) cdlS
Obll o (o 55 SIS 5T o g o il ST Lg Y uqma-f/ (The birds
were chirping so hard and their eyes were looking at the ground
because they were afraid of their little one who was unable to fly).
In item (4) fbiesd) Yaiica I Cilde jidliatl) <35 i (How did the
birds thank Afaaf from her good deed’>) the student wrote J“A/"
"o yia e 453 CJ*A' Jinstead of L i g Clde (338 A5 fias

Al ) il JJ-‘-‘"-” 5432434 (The birds thanked Afaaf for her
good deed by fluttering their wings over Afaaf's head while making
happy noises for the return of the small bird in its nest). Responding
to item (5) - 44&4-” 218 §l3ié Cuisf (Write the tittle of this passage), the
student wrote " (k€ A 4ilasy " (‘and she took it to its nest) instead
Of daia 3/ Culul 34 42kt b /3% (The merciful girl) (Al-Afaafu).

11



Also in part (B) the student responded mcorrectly In item (1) for
example, he or she wrote "44L4" instead of gl In item (2) he or
she wrote "4Z" instead of 4& . In item (3) he or she wrote
s (] diad instead of Lyii [3diaé | In the last part in this item he
or she wrote "4dé J 4ilas3" instead of Laia i/ &/,

Furthermore, the students failed to summarize the passage given in
part (C), probably due to poor mastery of the Arabic language. As a
result, some of them wrote meaningless sentences while others left
the part unanswered. This indicates that these students failed to
comprehend the passage due to poor mastery of Arabic language
and lack of skills of reading comprehension. Extract 1.2 shows a
sample of a response from the student who failed to provide correct
responses.
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Extract 1.2 is a sample of a poor response to question 1.

_,

The extract shows a sample of a response from one of the students
who provided incorrect responses in all parts of the question.

2.2 SECTION B: Language Use.

This section had four questions. The students were required to answer all
questions. Each question carried five (05) marks except question number
five (5) which carried ten (10) marks, making a total of twenty five (25)
marks.

2.2.1 Question 2: Jumbled Sentences

In this question, the students were instructed to re-arrange the five
sentences into a logical sequence to make a meaningful paragraph.
They were required to write the letter of the correct sentence in the
corresponding number in the table provided. The question tested the
student’s ability to organize the sentences into a meaningful
paragraph. The question was:-

14
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The question was attempted by 3,086 students (100%), out of whom
420 students (13.6%) scored from 4 to 5 marks, which is good
performance; 1,052 students (34.1%) scored from 2 to 3 marks,
which is average performance and 1,614 students (52.3%) scored
from 0 to 1 mark, which is poor performance. Among these, 593
students (19.2%) scored 0 mark. The general performance of the
students in the question was therefore average, considering that
1,472 students (47.7%) scored from 2to 5 marks. The overall
students’ performance in the question is summarised in Figure 2.

l Scores

m00-1.0

20-30
m40-50

Figure 2: Students’ Performance in Question 2.
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The analysis shows that, the students who performed well in this
question were able to re-arrange the jumbled sentences in a logical
sequence to make a meaningful paragraph, although some of them
failed in one item. The data shows that 13.2% of the students scored
full marks. It seems that, firstly; they read all the given sentences
properly and understood what the sentences meat. This is treated to
be the most critical step as the base of solving the question depends
on this step. This helps the students to understand the overall
concept of the paragraph. Furthermore, the students realised that the
story was about Saeed.

The students realized sentence (=) <haa 58 Lew 450/ (Saeed
bought a nice ball) to be the first sentence because it contains the
subject “Saeed” and the whole story is about him and all other
sentences could not be the first because they start with linking
words which add to what has been stated previously. They also
recognized the sentence (1) dutel 4 4 s bgy ol 719 (and he
started to play with it with his friends at school) as the second
sentence, since it contains the olLiadl olgedalf (the two covert
pronouns) in perfective and the imperfective verbs which do not
appear after them in the Arabic language. These GL&iidll ol sacall
(two covert pronoun) refer back to the mentioned noun (Saeed) in
the first sentence. They also recognized that the sentence contains
Jaisl el (attached pronoun) (&) in ( &) that refers to the nice
ball, that has been mentioned in the first sentence. Furthermore, the
sentence comprises of possessive pronoun that refers back to the
mentioned noun (Saeed) in the first sentence. They also realized the
sentence (R) el & L i 48 sl 49 a5 (Then the bell rang and
Saeed stopped playing) to be the third sentence because it gives
information about stopping of the game that has been described in
the previous sentence. The students recognized the sentence (<)
Jadll 349 (he entered the classroom) to be the fourth sentence since
it has the relationship with the previous sentence and finally they
realized the sentence (3) ¢t/ I @i (uda a7 (Then he sat down to
listen to the lesson) to be the last sentence because it is the
continuation of the above sentence. This suggests that they had the
knowledge and skills of organizing information. Extract 2.1 is a
sample of a good response.

16
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Extract 2.1 is a sample of a good response to question 2.

The Extract shows a sample of a response from one of the students
who was able to re-arrange the jumbled sentences into a meaningful
paragraph as required.

Furthermore, the analysis indicates that, 1,052 students (34.1%)
scored between 2.0 and 3.0 marks, which is an average performance
in question 2. The majority of the students were able to answer only
two or three items. This suggests that they had partial knowledge of
Arabic language and few vocabulary items; these weaknesses
caused them to write a number of the remained items randomly
without considering their meaning.

Further analysis of the students’ responses shows that, the students
who performed poorly in this question did not have skills of
rearranging jumbled sentences. Consequently, they seem to have
guessed the answers. One among the students with zero mark for
example, picked the sentence (&) J<i/ Ji4s (he entered the
classroom), without even realizing that the sentence starts with a
linking word which adds to what has been previously stated. The
student also picked the sentence (@) 4ea 448 Lew s 4id/ (Saeed
bought a nice ball) as the second sentence without even realizing
that the sentence is supposed to be the first sentence because it
contains the subject “Saeed” and the story is about him.
Furthermore, the student chose the sentence (2) J/ gaiw s ai
w4 (Then he sat down to listen to the lesson) as the third sentence

17
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without realizing that the sentence (=) 4haa 58 Lew (4 5d/ (Saeed
bought a nice ball), which was picked as the second does not have
any relationship with this sentence.

Moreover, the student picked the sentence () tew cid 4 u jall 59 a5
«elll e (Then the bell rang and Saeed stopped playing), as the
fourth sentence in the given paragraph because he/she did not
understand that the sentence deserved to be chosen as the third in
the order of arrangement since it gives information about stopping
of the game that has been described in item (i) which was supposed
to be the second one in the logical order of the story.

Finally, the student selected the sentence (1) 4 43 ga g cals 715
4w tadl (and he started to play with it with his friends at school), as
the fifth sentence without knowing that the sentence contains
pronouns which refer back to the mentioned noun (Saeed) in the
sentence (=) 4bas 48 Lew s i/ (Saced bought a nice ball), which
was supposed to be arranged as the first sentence in the logical
order of the story.

This suggests that the students in this category did not have
adequate knowledge in Arabic language especially in the re-
arrangement skills of sentences from the first sentence to the last
one in the given disarranged-sentences. Extract 2.2 shows a sample
of a poor response from one of the students.
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Extract 2.2 is a sample of a poor response to question 2.

18



The Extract shows a sample of a response from one of the students
who was not able to re-arrange the jumbled sentences into a
meaningful paragraph as required.

2.2.2 Question 3: Matching Items

This question had five items of which the students were required to
match each sentence in List (A) with the given pronouns in List (B)
by writing the correct pronoun in the blank spaces. Column A
consisted of five sentences while Column B consisted of seven
pronouns from which students were required to select the answers.
The question tested the students’ ability to use pronouns in the
Arabic language sentences. The question was as follow:
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The question was attempted by 3,086 students (100%). The statistics

show that 282 students (9.1%) scored from 4 to 5Smarks, which is a

good performance,786 Students (25.5%) scored from 2 to 3 marks,

which is an average performance and 2,018 students (65.4%) scored
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from 0 to 1 mark, which is a weak performance, among them 1,085
students (19.2%) scored 0 mark. The general performance of the
students in this question was average considering that 1,068 students
(34.6%) scored from 2 to 5 marks. Figure 3 summarizes the
performance in question 3.
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Figure 3: Students’ Performance in Question 3.

The students who scored high marks in this question were able to
match four to five items in this question. Those who scored 5 marks
were able to match all the sentences in column A with their
corresponding pronouns in column B. The students who performed
well for example, matched the item (1) L&) A cilpics Guad s
with pronoun (bb (1), which is the first person pronoun (smgular) in
nominative case since the sentence contains a verb <daé with first
person attached pronoun (singular) in nominative case. The students
matched the description in item (2) cddd Gu sl AT with
pronoun ra---'/ (‘You’ in plural) second person pronoun (plural) in
nominative case because the sentence contains a verb ra-r-fa/ with
second person attached pronoun (plural) in nominative case.
Moreover, they matched item (3) ¥ & (LY Lils with
pronoun &# third person pronoun (smgular) in nominative case
since the sentence contains a verb (-hw) which relates to that
pronoun. They also matched the sentence in item (4) o€ (il giis/
9@9/ with the third person pronoun (singular) in nominative case
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because it contains the &/ with the third person hidden pronoun.
Finally, they matched the statement in item (5) iddaly sy Liehd
with the pronoun Ja< which is first person pronoun (plural) in
nominative case since the sentence contains the verb ( L&&é) with the
attached first person pronoun (plural) in nominative case. This
shows that they had enough skills on the Arabic pronouns and how
to use them in the sentences. Extract 3.1 shows a sample of the
correct response from one of the students.
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Extract 3.1 is a sample of a good response to question 3.

The Extract shows a sample of a response from one of the students
who matched Colum A and B correctly.

Although the performance was good, 786 students (25.5%) scored
average marks because they were able to match correctly between
two and three items. This is attributed to the students’ partial
knowledge in the subject matter.
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On the other hand some students performed poorly. Some of them
were able to match only one sentence on List A with the pronouns
of List B, while those who scored zero mark failed to match all the
sentences on List A with the pronouns on List B. They put the
wrong pronouns that did not correlate with sentences found in list A.
One of the students for example, matched the item (1) (wis dulas
4 @l3a with pronoun </ which is the second person pronoun
(singular) in nominative case instead of the pronoun (l-rl) (D, which
is first person pronoun (singular) in nominative case. The student
was wrong since the sentence contains a verb &daé with first person
attached pronoun (singular) in nominative case and should be
matched with the detached pronoun (&) (1), which is the first
person pronoun (singular) in nominative case. The student also
matched the item (2) ¢ Jdddl G sl £/ with pronoun ¢ which is
the third person pronoun (plural) in nominative case. The student
did not realize that, the sentence contained the verb pJ-h/ with
second person attached pronoun (plural) in nominative case and no
doubt it should be matched with pronoun ra-ul (“ You’ in plural)
which is the second person pronoun (plural) in nominative case. The
student also matched the sentence in item (3) w)% A& LY/ Lils
with pronoun s which is the third person pronoun (singular) in
nominative case. The student was wrong because the sentence
contains the verb 4éid with third person pronoun (singular) for
feminine in nominative case.

Moreover, the student incorrectly attached the statement in item (4)
S 58 S adl #24 with the pronoun aZfwithout realizing that there
is no relationship between the pronoun A%/ and that of the verb in
the sentence. Finally, the student attached the sentence in item (5)
léiially culily Lshd with the pronoun &, instead of ¢ . This shows
that, they did not only know the meaning of the pronouns found on
List B but also the uses of these pronouns. Extract 3.2 shows a
sample of an incorrect response from one of the students in this
question.
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Extract 3.2 is a sample of a poor response to question 3.

The Extract above shows a sample of a response from one of the
students who failed to match Colum A with Colum B as required.

2.2.3 Question 4: Filling in the blanks
This question had five items. The students were instructed to fill in
the blank spaces with correct prepositions. The question tested
knowledge of using the Arabic prepositions. The question was:-
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The question was attempted by 3,085 students (99.9%). 367
students (11.9%) scored from 3.5 to 5 marks, which is a good
performance; 820 students (26.6%) scored from 1.5 to 3 marks,
which is an average performance and 1,898 students (61.5%) scored
from 0 to 1 mark, which is a weak performance, among them 1,220
(39.5) scored 0 mark. The general performance of the students in
the question was therefore average, considering that 1,187 students
(39.5%) scored from 1.5 to 5 marks. The overall students’
performance in the question is summarised in Figure 4.
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Figure 4: Students’ Performance in Question 4.
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The students who scored high marks in this question were able to
fill in the blank spaces with the correct prepositions in either four or
five items. On the other hand, the students who scored full marks in
this question were able to fill in the blank spaces with the correct
prepositions in all items. They realised that a blank space in the item
(1) 440 /3¢9 55 required a preposition 4 (just like in or
into in the English language). This was the correct answer since this
preposition refers to something moving from outside to inside or
something being inside. They also realised that the blank space in
the item (2) w<)¥ Litg jady (The fruitfalls _ the
ground) had to be filled in with a preposition 4 (on) because it
refers to the top position of something which means “on” or
“above”

Moreover, they realised that the blank space in the item (3) s gbé
sl i (The boy cut the rope ___ a knife) had to be
filled in with a preposition — ( with) since the students knew the
various uses of the preposition =, as this (preposition =) can refer
to the meaning “by”, or it can mean “with®. It can also refer to place
meaning “in” or “at”. Furthermore, they realised that the blank
space in the item (4) slaldl _ ShailJibi(Therainfalls __ the
sky) had to be filled in with a preposition ¢ (from) since they
recognized that this preposition can refer to initiating an action from
some place, or it can mean “some of”. It can also refer to “one of”.

Lastly, they realized that the blank space in the item (5) _ &Ll culay
Ao jiall ____(Thegirls arrived ______ the school) had to be filled in
with a preposition &/ since they knew the meaning of both the
incomplete sentence and the preposition to be filled in. This shows
that these students had mastered well these prepositions in the
Arabic language. Extract 4.1 shows a sample of a good response
from one of the students in this question.
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Extract 4.1 is a sample of a good response to question 4.

The Extract shows a sample of a response from one of the students
who was able to fill in the blanks by using appropriate prepositions.

Further analysis shows that, some of the students scored average
marks in this question. They managed to correctly fill in the blank
spaces in two or three items. One of the students for instance,
managed to fill in item (2) with .=, item (4) with ¢« and item (5)
also with ¢« , while he or she failed in item (1) and (3). This is
attributed to students’ partial knowledge of Arabic language.

However, the Data shows that, 1898 students (61.5%) scored from
0.0 to 1.0 mark which is a poor performance, among them 672
students (21.8) scored 1.0 mark. These students were able to fill in
only one space with the correct preposition among the items given
in this question. Furthermore, the students who had zero mark in
this category were not able to fill in even only one item with the
correct preposition.

One of the students for example, in item (1) 44&0 £laed Jid
put "c=" instead of 4. Contextually, the preposition o4 was
supposed to be the answer. In item (3), csSe bl dfgl akd
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the student wrote ", ", instead of (<), It is possible that this student
neither knew the correct uses of this letter nor the meaning of the
sentence. As this (preposition =) can refer to the reason meaning
“by”, or it can mean “with*

Moreover, some of the students did not understand the demand of
the question. One of the students for example, responded to the
question using pronouns instead of prepositions; in item (1) he or
she put "2 " (she) in item (2) he or she put "ca" (we), in item (3)
he or she put "ai " (you “of plural’), in item (4) he or she put &7/(1)
and in item (5) he or she put s " (he). Others left the items unfilled
in. This shows that these students had inadequate knowledge of
Arabic prepositions and poor mastery of Arabic language. Extract
4.2 shows a sample of a poor response from one of the students in
this question.
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Extract 4.2 is a sample of a poor response to question 4.

The Extract above shows a sample of a response from one of the
students who was unable to fill in the blanks with the appropriate
prepositions.

Question 5: Dialogue

This question required the students to complete the dialogue with
the appropriate information according to the information given in
each item. The question tested students’ ability to express
themselves by using simple Arabic language. The dialogue was:
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The question was attempted by 3,086 students (100%) and their
performance was generally average. 812 students (26.3%) scored
from 6.5 to 10 marks, which is a good performance, 804 students
(26.1%) scored from 3 to 6 marks, which is an average performance
and 1,470 students (47.6%) scored from 0 to 2.5 marks, which is a
weak performance. The overall performance in this question is

summarized in Figure 5.
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Figure 5: Students’ Performance in Question 5.

The analysis of the students’ responses revealed that, 812 students
(26.3%) scored from 6.5 to 10.0 marks. The students who failed to
get full marks in this category, either provided incorrect responses
to one item or responded to some items with statements affected by
grammatical errors. The statistics show that 220 students (7.1%)
scored full marks in this question. The students were able to
complete the dialogue in all items by writing the appropriate
information required. For example, they realized that item (1) slaa
3 (good evening) required the statement (sl £Lud). This is
because, this statement is used to say hello to someone in the
evening and relates to the next sentence. They also realized that, the
correct question for the statement in item (2) was fdlfis i (how are
you). This is because; the statement is used in greetings to know
about one’s health and mood. They also realized that, the correct
statement for the question in item (3) was (Jéts b/) ( I am Jafary)
because the statement is used to know some one’s name. They also
recognized that, the correct question for the statement in item (4)
was & cuf (e (Where do you come from?), since the next sentence
gives information about where Jafary comes from. The last item
required the student to write about where Zaidu comes from, since
Jafary also would like to know it. The students realized it and one
among them wrote L34 G L3
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This shows that these students had good mastery of Arabic
language. Extract 5.1 shows a sample of a good response.
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Extract 5.1 is a sample of a good response to question 5.

The Extract above shows a sample of a good response from one of
the students who completed the dialogue correctly.

Moreover, there were students who had average performance in this
question. Analysis of the students’ responses shows that they were
able to complete the dialogue only in some items and they scored
between 3 to 6 marks. This shows that, the students who failed to
answer this question correctly had partial knowledge of Arabic
grammar and how to express themselves in Arabic language.

However, there were some students who failed in this question. The
analysis shows that 147 students (47.6%) scored below 3 marks.
Some of them for example, responded correctly to the question in
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only one item and some of them provided answers to some items
with ungrammatical sentences.

On the other hand, the students who scored zero mark in this
question were unable to provide correct answers in all items of the
question. One of the students for example, in item (2) wrote J&a"
mef (who are you?) instead of ftfis s (how are you). Some of
these students just picked some words from the question and used
them as their answers. Others left the items unfilled in and others
did not understand the demand of the question. Furthermore, some
of the students wrote meaningless words. This suggests that, the
students not only lacked enough vocabulary to express themselves
in the Arabic language but also they lacked competence in using the
Arabic language. Extract 5.2 shows a sample of a poor response
from one of the students in this question.
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Extract 5.2 is a sample of a poor response to question 5.

The Extract shows a sample of a response from one of the students
who failed to complete the dialogue as required.
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2.3 SECTION C: Grammar
This section had four questions. The students were required to answer all
questions. Each question carried ten (10) marks except question 7 which
carried five (5) marks making a total of thirty five (35) marks.

2.3.1 Question 6. Filling in the blanks
The question required the students to fill in the blank spaces with
the right Arabic language grammatical terms which correlate with
the descriptions given in each item. The question aimed at testing
students’ ability in understanding Arabic language grammatical
terms. The question was as follows:-
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The question was attempted by 3,086 students (100%). The analysis
of the students’ responses shows that 2,876 students (93.2%) scored
from 0.0 to 2 marks, which is a poor performance and among them
2,480 students (80.4) scored O mark. Furthermore, 191 students
(6.2%) scored from 3 to 6 marks, which is an average performance
and 19 students (0.6%) scored from 7 to 8 marks, which is a good
performance. The general performance in this question was poor
since 2,876 students (93.2%) scored from 0 to 2 marks. The overall
performance in this question is summarized in Figure 6.
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Figure 6: Students’ Performance in Question 6.

The analysis shows that, 2,876 students (93.2%) scored from 0.0 to
2.0 marks, which is poor performance and among them 2,480
students (80.4%) scored 0.0 mark. Apart from the students who
scored zero mark in this category, 396 students (12.8%) scored from
0.5 to 2.0 marks, among them 354 students (11.5%) scored 2.0
marks. These students were able to write the correct answer in
either item (3) or (4). On the other hand, the students who scored
zero mark in this question provided answers which were not related
to the requirement of the question in any item. One of the students
for example, in item (1) pld G A uuﬁﬁéw/ﬂ
308 4t 49 3138 Y pelias (lawrote el (letter). This is not the
correct answer since il (letter) in Arabic language can be
defined as a particle that cannot be fully understood its meaning
unless it is used with another word. In item (2) A/ 34 :

Caid 3 48 olgis o) A& J3 | the student wrote “a<d/ " (noun).
This is incorrect response to this item because a«¥/ (noun) can be
defined as the name of a person/place/animal/thing.

Moreover, in item (3) ceeé A& JL Al 34 - , the student
wrote "Jed/" (verb). The student also was wrong since J// (verb)
can be defined as a word that describes the time at which an action
occurred. In item (4)ss5 1L Go G355 41ad Sa: , the
student wrote "’sdaff Llea " (meaningful sentence). This is wrong
because sdaf 4laa is a sentence which is made of two or more
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words, and is “meaningful” or complete in meaning. In the last item
AT dalSy Laild Juadiy 6385 4y GBE ¥ 20 54 {the student
wrote " &</ " (plural), this was wrong since g«a (plural) refers to
three or more entities in the Arabic language. Furthermore, some of
them responded to the items with meaningless sentences. This
shows that the students lacked knowledge of Arabic language
grammatical terms. Extract 6.1 shows a sample of a poor response
from one of the students who failed to provide appropriate
responses.
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Extract 6.1 is a sample of a poor response to question 6.

The Extract above shows a sample of a poor response from one of
the students who was unable to fill in the blank spaces with the
correct answer.

Moreover, few students had average marks in the question. They
provided incorrect responses to some items. This is due to having
insufficient knowledge of Arabic grammatical terms.

The analysis of the students’ responses shows that the students who
performed well in this question were able to fill in the blank spaces
by providing the correct information required, although some of
them went astray in one of the given items.The students who scored
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2.3.2

all the marks/realized that a blank space in item (1) had to be filled
in with (_«4d). They also realized that the blank space in item (2)
had to be filled in with (sl &z,

Moreover, they realized that the blank space in item (3) had to be
filled in with %«-«J/ Furthermore, they realized that the blank space
in item (4) had to be filled in with %»w:ﬂﬂu-f/ Lastly, they realized
that the blank space in item (5) had to be filled in with a preposition
(JA-TAJ/ swe&l). This shows that these students had adequate
knowledge of Arabic language grammatical terminologies. Extract
6.2 shows a sample of a good response from one of the students in
this question
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Extract 6.2 is a sample of a good response to question 6.

The Extract shows a sample of a good response from one of the
students who was able to fill in the blank spaces with correct
information in all the items.

Question 7: True and False (Inflection and its Signs)

The question consisted of five (5) True/False items. Each item
carried one (1) mark, making a total of five (5) marks. The question
aimed at testing students’ ability in understanding inflections and its
signs in the Arabic language. The question was:-
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The question was attempted by 3,086 students (100%) whereby 420
students (13.6%) scored from 4 to 5 marks which is a good
performance; 1,852 students (60.0%) scored from 1.5 to 3 marks
indicating an average performance and 814 students (26.4%) scored
from 0 to 1 mark which is a weak performance, among them 405
students (13.1%) scored 0 mark. The general performance of the
students in this question was good, since 2,272 students (73.6%)
scored from 1.5 to 5 marks. The overall performance of the students
in this question is summarised in figure 7.
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Figure 7: Students’ Performance in Question 7.

The statistics show that 420 students (13.6%) scored from 4 to 5

marks which is good performance. These students were able to

respond correctly to four or all the items given in the question. The
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students who scored full marks in this question for example,
realized that, the explanations in items (1), (2) and (5) were correct;
hence they put True to each item. While the information in items (3)
and (4) were wrong hence they put False to each item.

One of the students for example, in item (3) &y &4V J&i | wrote
“False” because he or she realized that grammatically the Arabic
language verbs cannot take jarr or kisra at its last letter. Also the
student recognized that, item (4) which states that dadle G588 5150
W/aﬁéﬁﬂ is wrong since, grammatically the letter "5 " (waau)
cannot be the sign of nominative case for (tathniyatu). This shows
that the students had adequate knowledge of Arabic grammatical
terms. Extract 7.1 shows a sample of a correct response from one of
the students.
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Extract 7.1 is a sample of a good response to question 7.

The Extract shows a sample of a response from one of the students
who provided the correct responses to all the items in question
number 7.

Most of the students with average marks in this question got two or
three items. This suggests that, these students had partial knowledge
of Arabic inflection and its signs, which hindered them from scoring
all marks in this question.

The statistics show that 814 students (26.4%) scored from 0.0 to 1.0
mark which is a weak performance, among these, 405 students
(13.1%) scored 0.0 mark. The students who scored 1 mark in this
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question were able to give the right answer to one among the given
items, in spite of the fact that, they were not able to provide correct
answers to the remaining items.

Further analysis of the students’ responses shows that the students
who scored zero mark were not able to answer even one item from
the question given. Consequently, they provided incorrect responses
to the question. One of the students for example, in item (1), (2) and
(5) wrote ""iai" (False) instead of Ziaw (True). On the other hand,

the student wrote "Ziac" (True) instead of &3 (False) in item (3),

without realizing that Arabic verbs take neither jarr nor kisra at its
end. Also the student wrote True in item (4) instead of False without
recognizing that the letter (waau) is the sign of nominative case to
both the altiul/ £ial £as (sound masculine plura) and i/ slewds
(The Arabic five nouns). This shows that these students did not
understand the requirements of the question and they had
inadequate knowledge of Arabic inflection and its signs. Extract 7.2
shows a sample of an incorrect response from one of the students.
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Extract 7.2 is a sample of a poor response to question 7.
The Extract shows a sample of an incorrect response from one of

the students who provided incorrect answers to all items due to lack
of adequate knowledge of Arabic grammar.
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2.3.3 Question 8: Nominal and Verbal Sentences
This question required the students to change the sentence from
present tense to past tense. The question aimed at testing students’
ability of using past tense in their daily life. The question was:-
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The question was attempted by 3,086 students (100%). The
performance in this question was poor since 2,502 students (81.1%)
scored below average. The analysis shows that 2,502 students
(81.0%) scored from 0 to 2.5 marks out of 10.0 marks which is a
weak performance; 403 students (13.1%) scored from 3 to 6 marks
out of 10 marks which is an average performance and only 181
students (5.9%) scored from 6.5 to 10 marks out of 10 marks, which
is a good performance. Figure 8 summarizes the performance of the
students in this question.
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Figure 8: Students’ Performance in Question 8.

This question is among the questions that was poorly performed,
since the majority of the students (81.0%) had low scores.
According to the analysis of students’ responses, 2,268 students
(73.5%) scored zero mark. These students were unable to convert
the sentences given from present to past. One of the students for
example, in item (1) il Gl <8747 (1 am writing the lesson with
the pen), wrote "afily Gl <8 instead of alily Ju d &3 Lf (]

(wrote the lesson with pen). To change the sentence from present to
past, the verb < in the sentence should be changed a bit, that is,
the first letter (/) should be omitted and the first two letters after
cutting the later (/) are vowelled ‘fatha” while the last one is
vowelled ‘sukuun ”, without forgetting that, the letter ( <) which is
the pronoun for first person masculine singular should be added at
the end, hence the verb will become <. In item (2) 4& Jujdi &
‘@J‘-’/( you are learning the Arabic language) he or she wrote

i sal) A&l Gu i instead of il 4El cld & (you learned the
Arabic language) by removing the first letter of the verb Jw& as
well as changing the vowels of both the second and the third letter
which are (<) and (2) respectively to be fatha ”and to change that
of the last to be sukuun, without forgetting that, the letter (<) which
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is the pronoun for second person masculine singular should be
added at the end, hence the verb will become <,

Furthermore, in item (3) the student wrote "[ié a3 e 434 " by
removing the detached pronoun () instead of Diﬁaﬁ/énég 34
Possibly he or she thought that, removing the detached pronoun (ﬂ)
was the correct answer. In item (4) he or she wrote Ld:-f/ cub-'

instead of é&-é!/ adib &* . The student removed the detached
pronoun in the sentence as he or she did in the item number (3) and
he or she did the same in the last item. Besides, some students wrote
meaningless sentences and others left the question unanswered. This
shows that these students did not understand the demand of the
question and had insufficient knowledge on the use of verbal
sentences. Extract 8.1 is a sample of a response from one of the
students who performed the question poorly.
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Extract 8.1 is a sample of a poor response to question 8.
The Extract shows a sample of a response from a student who was

unable to change the sentences given from present tense to past
tense.
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The students with average scores in this question were able to
change the sentences from present tense to past tense in some items.
These students had partial knowledge of how to change the
sentences. Consequently, some of them provided answers with
grammatical errors. In item (1) for example, one of the students
wrote "alilly Ju il i3S U7 7 instead of adifly Ju 30 &3 L7, The student
was able to change the verb from present to past but failed to add
(£) which is the pronoun for first person masculine singular.

Moreover, the statistics show that, the students who performed this
question well were 181 (5.9 %), among them 55 students (1.8%)
scored full marks in this question. These students were able to
change all sentences given from present tense to past tense as
required. In item (1) sy Gu il <387 L7 (1 am writing the lesson with
the pen), for example, one of the students wrote, G &is L/ "
malill( | wrote the lesson with the pen). In item (2) 4l Jujdf &uif
"-'-'J'-” (you are Iearnlng the Arabic language).The student wrote
i el iy &li &dv | (you learned the Arabic language), in Item
3) /JS-'-‘PJ-'J’LF;‘J‘-'J‘ ( he gets up from sleeping early), the student
wrote ”USA-a a3l Ga alE 38 (he got up early). Furthermore, in item
(4) rauh-f/@!a-vad (she is cooking the food), he or she wrote ik 4"
mstekll (she cooked the food) and in the last item .&adl cee i el
(you are planting the wheat) the student wrote "zl «é ) j i
(you planted the wheat). This shows that these students were
familiar with the Arabic verbs. Extract 8.2 shows a sample of a
good response to this question.
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Extract 8.2 is a sample of a good response to question 8.

Extract 8.2 shows a sample of a response from one of the students
who was able to change all present sentences given to past
sentences.

Question 9: Analysing the Underlined Words

In this question, the students were required to analyse the
underlined words given. The question tested students' ability to
analyse words given in a sentence using inflection («/<¥). The
question was:-
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The question was attempted by 3,084 students (99.9%). A total of
2,287 students (74.2%) scored from 0 to 2.5 marks, which is a poor
performance; 535 students (17.3%) scored from 3 to 6 marks, which
is an average performance and 262 students (8.5%) scored from 6.5
to 10 marks, which is a good performance. The general performance
in this question was poor since a large number of students scored
below average as summarized in Figure 9.
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Figure 9: Students’ Performance in Question 9.

As shown above, the students who performed poorly in this
question were 2,287, among them 1,688 students (54.7%) scored 0O
mark. These students were not able to analyse the underlined words
as required. Most of them provided irrelevant answers. One of the
students for example analyzed the underlined words as follows:-

In item (1) o)¥ ‘-u-\-uﬂ/ (The ox plows the land), the student
wrote "awd!” : 50 (0x: Name) instead of 4o 424, Lade g £ 5 0 Jtisa
ﬂu’(subject in nominative case with visible damah). In item (2)
Uw/‘,-'/ﬂhu &/ G Jzi(Hassan would like to travel to America) he
or she wrote "fedl”: JSia instead of 4xd) 4adle g £ 4d pa Jold ;5
sl dess (Hasan : The door in nominative case with visible
damah). In item (3) uaif/,;-h -’-4/04'-‘-'(1-’ (No one caught the thief )
the student wrote: "0 : uA-U/ (Thief : predicate) instead of uA-U/
5L 5 S 5 3 dadle g vy s g s A (Genltlve nhoun with visible kisra
at its end) in item (4) a5l d Sl gl Latky 455 (Students eat two
meals a day.)wrote """ gl o/ (Meals : predicate) instead of
(e Y L) i Ladle g i gaia 4 Jsrda : ilia 3 (al-wajabatain: It is
the object in accusative case and its sign of nasb is the letter yaau
since it is the dual noun). In item (5)_ sl & by s (The child
slept on the bed) wrote "/aial’: sl (slept : subject) instead of sl
Zidl e e paladl Jed(slept : past tense, indeclinable, cemented on
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the vowel “a”). This shows that the students lacked the skills of
analysing words in the Arabic language. Furthermore, other
students who performed poorly in this question wrote meaningless
sentences while others left the question unanswered. Extract 9.1
shows a sample of a poor response from one of the students in the
question.
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Extract 9.1 is a sample of a poor response to question 9.

The Extract above shows a sample of a response from one of the
students who failed to analyse the underlined words as required.

Students who scored average marks in this question were able to
analyse correctly only few words in the question because of partial
knowledge of the Arabic language. Some of them wrote incomplete
answers in some items while others wrote answers which were
affected by grammatical error. This led to such students getting

between 3 to 6 marks.
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As shown in the data, the students with good performance in this
question had scores ranging from 6.5 to 10.0 marks. Those who
scored below 10.0 marks failed to provide correct answers to one or
two items while others responded to some items with grammatically
erroneous. The students who scored full marks were able to analyze
all the underlined words correctly by showing the inflection of the
underlined words in the sentence. One of the students for example,
in item (1) o2¥ 4 s (The ox plows the land ), wrote /s’
"5 Ll dads ded 4—0)@,;5,;9;4 (Subject in nominative case with visible
damah). In item (2) LSis/ ) Jdlesi &/ Sius 457 (Hassan would like to
travel to America) he or she wrote : Sed” 42d, Ladle g £ 94 4o Jold
"5 plh des (Hasan : The door in nominative case with visible
damah). In item (3) uA-U/‘,-IG isfoadi Al (No one caught the thief ),

he or she wrote: "58lb s s sja Ladle g o g sne ] ué—”/"
(Genitive noun with visible kisra at its end). In item (4) Lalky g€
Lol A cuis 3l (Students eat two meals a day), he or she wrote:
" e 7Y pll) duai Ladle g i geaio 41 Jgrda ;i3 37 (al-wajabatain: is
the object in accusative case and its sign of nasb is the letter yaau
sice it is the dual noun) In item (5)_dral Jdky s (The child
slept on the bed), he or she wrote "zidl o i dlall Jad ;5L (slept
. past tense, indeclinable, cemented on the vowel “a”). The students
who scored high marks in this question had sufficient knowledge of
Arabic language and were proficient in analyzing sentences. Extract
9.2 shows a sample of a response from a student who was able to
analyze the given underlined words as required.
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Extract 9.2 is a sample of a good response to question 9

The Extract shows a sample of response from one of the students
who was able to analyse the underlined words as required.

2.4 SECTION D: Composition
This section had two questions and the students were required to attempt
only one question. Each question carried twenty (20) marks.

2.4.1 Question 10: Essay Writing
In this question, the students were required to write an essay on the
harmful effects of smoking on human health. The question tested
students’ ability to write and express themselves fluently and
logically using the Arabic language. The question was:-

R oy g o eld il s Mg T 1 -0
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The question was attempted by 67 students (2.2%). A total of 66
students (98.5%) scored from 0 to 5 marks, which is a poor
performance; no one performed averagely in this question, while
only one student (1.5%) scored 17 marks, which is a good
performance. The general performance in this question was poor
since a large number of students scored below average as
summarized in Figure 9.

1.5%

Scores
m00-55

m13.0-17.0

Figure 10: Students’ Performance in Question 10.

The analysis shows that most of the students escaped this
question and it was the worst performed question among the
given questions, since 98.5 % of the students who attempted the
question scored from 0.0 to 5.0 marks, out of which 81.1% of the
students scored zero mark.

The majority of the students who scored zero mark in this question
wrote answers which were not related to the demand of the
question. Some of them, they just copied some words or passage
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from questions and put them as answers. Few of them provided
unclear compositions. This shows that most of them had poor
mastery of Arabic language. Extract 10.1 shows a sample of poor
responses from one of the students.
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Extracts 10.1 is a sample of a poor response to question 10.

The Extract shows a sample of a poor response from one of the
students who failed in this question due to lack of enough
knowledge and poor mastery of the Arabic language. Furthermore,
he or she failed to identify the demands of the question.
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On the other hand, there was one student who performed well in this
question. The student was able to write an essay about harmful
effects of smoking on human health logically using Arabic
language, although he or she had few grammatical mistakes and
spelling errors. Extract 10.2 shows a sample of a good response.
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Extract 10.2 is a sample of a good response to question 10.

The Extract shows a sample of a response from a student who gave
enough explanations according to the demand of the question.
However, there were some spelling errors, grammatical mistakes
and some points were not well organized.

2.4.2 Question 11: Letter Writing

The question instructed the student to write a letter to his or her
uncle who lives in Egypt, thanking him for his financial assistance
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to him or her. The question tested students’ ability t0 express
themselves in Arabic language. The guestion was:-

Sb 4 v Bl 4
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The question was attempted by 2,448 students (79.3%). The
performance in this question was poor as 1,987 students (81.2%)
scored from 0 to 5.5 marks, which is a poor performance; 438
students (17.9%) scored from 6 to 12.5 marks, which is an average
performance and 23 students (0.9%) scored from 13 to 17.5 marks,
which is a good performance out of the 20 marks allocated to this
question. The performance in the question is summarized in Figure
11.

0.9%

Scores
m00-55

6.0-125
m13.0-17.5

Figure 11: Students’ Performance in Question 11.

The analysis shows that 1,987 students (81.2%) performed poorly in
this question, among them 195 students scored 0 mark. The students
who scored 5.5 marks or below it in this category were able to write
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the address of the letter but could not write the main body of the
letter clearly. While the students who scored zero mark were unable
to write a letter at all. Some of them repeated the question and some
wrote unreadable information. Others wrote information which
were not related to the question. The poor performance in this
question indicates that, students had insufficient vocabulary and
poor mastery of Arabic language. Extract 11.1 shows a sample of a
poor response from one of the students.
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Extract 11.1 is a sample of a poor response to question 11.

The Extract shows a sample of a response from one of the students
who failed to answer the question correctly.

The students who scored average marks, were able to write the
address and provided some explanations with grammatical errors.
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This indicates that, the students had insufficient vocabulary and low
grammatical mastery of the Arabic language.

However, there were some students who performed this question
well. These students were able to write an informal letter since they
adhered to all rules of writing the informal letter in Arabic
language; although there were some grammatical mistakes in their
responses, they met the demand of the question. Extract 11.2 shows
a sample of a good response.

55



7 y
b &P
(o 3

161 2020

/ °e u/ /
a5t oo (@ )

T Al e, A N
3dw~xw‘unsww\/,m S0, 05 Xe 2y

,

'/, v, ~ . . /x/f/ S
-wsw)wo, 5% )J\bw\w,ﬂ@\b\q@\

q_,

s K 45 L, QLN 3 0 Y1

‘ t.vJ*‘ o

"”\,x(rwu\miw v\fe\m‘_‘ g”r'\u/v\) &b%}\,&\

\/
4 ’

Q&”\%NU\AWW\SI 5\‘\&)'»‘;%;%5\}

§

J . Z L s et L w /7
Lo ()_);\)(\,mi) MW’\GW@Q R

£
2327 Gals o\ vl

\ & T
4 saahs’y Cs 3Ny 05051 M\, s

Extract 11.2 is a sample of a good response to question 11.

The Extract shows a sample of a good response from one of the
students who wrote an informal letter to his or her uncle who lives
in Egypt, thanking him for his financial assistance to him or her,
although there were some spelling errors and grammatical mistakes.
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3.0 ANALYSIS OF STUDENTS’ PERFORMANCE IN EACH TOPIC

The analysis of the students’ responses in each topic shows that, the students
had average performance in the following areas: In Comprehension (55.5%),
Language Use (43.3%) and Grammar (31.3%). In spite of the average
performance, the students had poor performance in Composition (10.2%).

The performance of the students in the topics tested is summarized in appendix
A, where by yellow colour indicates topics with average performance and red
colour indicates topics with weak performance.

4.0 CONCLUSION

The general performance of the students in Arabic language in the FTNA 2020
was average. This performance was attributed to having good skills in reading
for comprehension and adequate knowledge of Arabic grammar which enabled
students to understand and identify the requirements of the questions.

50 RECOMMENDATIONS

In order to improve performance of the students in future the following is
recommended:

(a) Teachers should guide students to identify inflections and analyse sentences
from selected texts in groups.

(b) Teachers should guide students to study grammar texts. Students should
practise grammar and give examples based on the grammar which they
learn.

(c) Teachers should guide students to express their daily routine and past
events using simple sentences to enable them to express themselves in
Arabic language.

(d) Teachers should guide students to select topics of composition and write

the first draft in pairs or groups focusing on the content of the topic,
correcting spelling mistakes and grammatical errors.
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Summary of Students’ Performance in Each Topic

025- ARABIC LANGUAGE

Appendix A

S | Topic Total 2020
/ Number of The Remarks
N Questions | percentage
of students
who scored
an average
of 30
marks or
above
1. | Comprehension 1 55.5 Average
2. | Language use 4 43.3 Average
3. | Grammar 4 31.3 Average
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